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attention to 

The physical risk
dependencies 

transitions risks
impacts on terrestrial 

and freshwater biodiversity of economic activities. The 

BIA-GBS

consists of the 

dependency on ecosystem services

and its biodiversity footprint

to aggregate these de-
pendencies and impacts at the portfolio level

DSportfolio = DS i
issuer i

market value of securities issued by i in portfolio

total amount securities in portfolio

Footprintportfolio = Footprint i
issuer i

market value of securities issued by i in portfolio

enterprise value of  the security issuer*



50

ecosystem service and by economic sector.

one or more ecosystem services. The results suggest that a 

dicates the proportion of the portfolio or the company 
that is critically dependent on at least one ecosystem 
service 

value chains.

is-

indirectly
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The terrestrial static impact

.

Several economic sectors  contribute substantially to 

amount 

or Manufacture of beverages.

terrestrial dynamic impact of 
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research on the assessment of biodiversity related phy-
sical and transition risks

large 
coverage

highlighted the need to understand the distribution of high 

shares similar limitations to those of the GBS considered 


